Math 2568, Quiz #1, Fall 2013 Name K’EY

Instructions: Show all work. You must solve the
check the answer before submitting.

problem by hand, but you may use your calculator to

1. Solve the following system of equations by using an augmented matrix (reduced to at least
echelon form, or reduced echelon form if the system is dependent). Write the answer as a
column vector if independent, or in parametric form if dependent. If the system is inconsistent,
be sure to state that result clearly.
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2. Give three examples of a 3x4 matrix in echelon form. If the matrix represents an augmented
matrix, state whether each exa mple represents a consistent or inconsistent system, and
whether the system is dependent or independent (where appropriate)
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